Panasonic
EuiREiaRE

Operating Instructions
I77S5XUMr—FH BSUEAIR

Tools and Guides for Air Plasma Cutting Torches

a5 . YX=-08PT*3 series

SOV, "NFY v IERZESEEVEFVEE 2 LIIHYMNESTTVET,
® MIKFGREAEZ LK< BHmADI A, ELLRRITHFELCFEEELY,
BIMBOIMESAEL. HhETHEHEAEEL,
CERAINC TR2 EDTEE] 20T BHACESLY,
C OERIRERBAZFIARENICRE L TLEEL,
® Before operating this product, please read the instructions carefully and save this manual for future use.

Please read the operating instructions of peripheral equipment together with it.
First of all, please read “Safety precautions”.

English version is the original instructions.

AESUMAIEL, THREHOEA —FLEAEDETERATEET.
The following table shows the applicable cutting torches for the tools and guides.

R b —F
Applicable cutting torches
A K&
Air-cooled Water-cooled
o - e
No. =4 Description Model no. YT-03PD3
YT-06PD3
YT-08PD3 YT-08PDA3 | YT-15PDW3 YT-15PEW3
YT-03PD2 YT-08PDA2 | YT-15PDW2 YT-15PDWSTAC YT-15PEW2
YT-06PD2
YT-08PD2
N . Single Wheel . .
1 R&G748 74— Adapter YX-08PTR3 O (*1)(*2) o O -
2 HFigfxv A2 — Single Caster YX-08PTF3 O (*1)(*2) O 1) (@] —
3 | EmAR Straight Cutting | vy 5gpTS3 o o o _
-s Guide
4 BRI Clrgle Cutting YX-08PTC3 0 (1)2) _ _ o _
Guide
5 |gms=ayisxr er.n Circle Cutting YX-08PTM3 O ¢1)(2) _ _ _ _
Guide
N Edge Preparation .
6 |B%RTSETE— Adapter YX-08PTK3 0 (2) o o o —
7| #EARIL R X—Y Insulating Bolts | YX-08PTB3 o — _ _ _
O : EAMRE. —  BATRT O : Available, — : Not available
AV F oy THEERTERMIE O ARG,
*2 1 YT-03PD3. YT-03PD2 [ZHRY fHITD & FIZ(E, HBOT7HE T4—%FRHLET,
*1 : With a long tip, only drag tip cutting is supported.
*2 : When installing to YT-03PD3, YT-03PD2, use attached adapter.
OMTT1196JE08

2203



{1 / Application Examples

¢ {EFA5 / Application Examples

K7 4 7% — I Single Wheel Adapter: YX-08PTR3 K #fi¥ v X 4— | Single Caster: YX-08PTF3

ERUMEHEICLES,

Makes straight cutting easy.

EEEEER G/ L
Round head screw
for fixing rotation

M5x8

BRI EHEICLET,

Makes curved cutting easy.

MU E/T5HE. WAELE (Y RE
F v T —BHEERHS mm 1245 Notch U
EIRFA FHEZERELTESL,
To perform standoff cutting with Single
Wheel Adapter or Single Caster, adjust the
position of the supplied slide so that the

| contact tip to work distance is 5 mm.

-

—

BAERD F—FEFEAT H5EIE. {FED
TE T —EmiAALE~ MR L TEEER
LTSS,

N YT-03PD3
YT-03PD2 For torch of 35 Arating, install the supplied adapter
R with the round head fastening screws.
ik FHTE—YREHIE, BO& S [<HA
apter BARMILIZH LT, 90°F 5 LTLEEL,
TJF00008 Adapter notch is shifted by 90 ° against the round

— TR head fastening screws as shown in the figure.

Round head fastening screws
2-M4x6

E# 48 / Straight Cutting Guide: YX-08PTS3
BFEORE®HTHE T2 — (YX-08PTR3) &LHFAL T, JEEMUIMTERYY £HHICLET,
Makes standoff straight cutting easy in combination with the separately-sold Single Wheel Adapter (YX-08PTR3).

F®75 78— LOEBE. BDLSIC
F—FEEHAERICEDE., EFRARIC

MOTYMLEY,
N ) N - When not using the Single Wheel Adapter,
HEBOBEZERT HE. LFUMAFEICTAES . position the torch against the cutting guide
Installing the supplied cutting guide allows easy L-cutting. as shown above, then cut along the guide.

Y187 = =3 > /%X | Mini Circle Cutting Guide: YX-08PTM3

BEEEE

Pivot assy
$E19mm ~300mmETOMA. BLUHIRIMATEET, FE19mm ~ 150mm ETOA. SLVHRUIMATEET,
The Circle Cutting Guide allows cutting circles or curves from The mini circle cutting guide allows cutting circles or curves from

19 mm to 300 mm in radius. 19 mm to 150 mm in radius.

- U EERKICTBICE, AL FEP DO, BESEEFMECEHY F1F, F—FRDON—DOREEFZFKIZL TS,
-BEESER, £ 8- RUFTEMICHEZ DT EH., FLEEEEmm OREHITTHLEAL TILEL,
* To maximize the cutting radius, loosen the wing nut, re-install the pivot assy reversely, and maximize the bar length of the torch side.

= Make a mark or 6 mm hole with a center punch to set the pivot point.

n—s5_Rr 7%y bt EESE QM AR

Roller R Using pivot assy with magnet
I W
Incorrec
1D . X
J 2O [ dah
Correct ‘ '
C AL BHATFTICASE SICHELTESL, PR Fy M EEELEMBMAEE. $E 65 mm~280 mm
RELGAAMMYBBOREEGTY FS, DAE S VR ELY T,
s A—=35—REF—FHENDZDEHTODEDTY, TEDESITTAFRRIITRY FOAEEHET
B oS LEMM THEBLTESL, ERLTSESN,
* Adjust the bar so that it is parallel to the workpiece. ) * When using the pivot assy with magnet, the radius of the
Failure to do so can cause undue force and break the bar or workpiece. circular or curved cutting is 65 mm to 280 mm.
= The roller R prevents the torch from falling. * Position the edges of the magnet to the guide.

Adjust the bar so that there is a bit of space between the roller and workpiece.

OMTT1196JE08



BHsE 7 # 7% — | Edge Preparation Adapter: YX-08PTK3

¥R ER &L / Components

#%&K)L F/3—Y | Insulating Bolts: YX-08PTB3

AE (o) ZERFRLCLEDHEEZEEL TIEEL,

To change the a angle, change the tightening position of the screw.

AFvay
Optional

S

K

> A N ‘
AEEET A
Angle fixing surface,
E A—3— O
400 mm < Roller assy ©

\

60 mm

30°, 35°, 40°, 45°, 90° D FAFL LM AS
HEICITAET,

Allows easy edge preparation

of 30°, 35°, 40°, 45°, or 90°.
YIETATEE & & 300 mmA T

Cutting length: 300 mm or less

WRE 25 mmLLTF
Thickness: 25 mm or less

¢ HERER S / Components

K7 5 75— Single Wheel Adapter: YX-08PTR3
7 5 7% — Adapter
TJF00008

ICERELTLSEEN,

in contact.

TJF0O0009

-
| ERIM L )

|Round head screw X%ﬂ“ﬁg?m

| XSN5+8FJ oy (M4 \ _
1(M5x8) X s AZ4 F# Slide assy
I TFMO00186

L - - - - - - - — - =

YIMTA O >/ X I Circle Cutting Guide: YX-08PTC3

- HRBETF Y T —BH R EER %5 mm

- O—3>—HOEERE. AEEE@IC
BRICEITEETIESL,

* Adjust the contact tip to work distance to 5 mm.

YT-03PD3,YT-03PD2 CHMEA L E I
Use only for YT - 03PD3, YT - 03PD2.

&£ E48 Torch holder assy

#~RiMaC Round head screw | Round head screw

Y7 + L R4 L Sems screw
u XYN5+F10FJ
(M5x10)

Yl A = = 273/ Mini Circle Cutting Guide: YX-08PTM3

BERERER
Customer supplied cutting guides
BIERIL FEFERTEIEITKY. BIFHD
AR ESUETRETY,
With the plastic bolts, you can make a wide variety of
cutting guides.

* When fixing the roller assy, be sure the roller assy
surface and the angle fixing surface are completely

R#fi¥ v X 2 — Single Wheel Caster: YX-08PTF3

7 4 7% — Adapter TJFO0008
YT-03PD3,YT-03PD2THDAEA L EF
Use only for YT - 03PD3, YT - 03PD2.

{24 248 Torch holder assy
TJF00009

AL

(M4x6Y

XSN5+8F) _ (1
gt

* v x4 — Caster
TFM00194

+ L X1 L Sems screw
XYN5+F10FJ
(M5x10)

7k Nut RTYLT Ty or— S
i : AR b
?MNSE;GFJ Spring washer Wing bolt
R XWA8BFJ XVP6F10FJ
yr— (M8) #7K)L kWing bolt (M6x10)
Washer XVP6F10FJ
XWESFJ %/ (M6x10)
SN =] . .
(M8) _ E £ B Pivot assy L@ lﬁli%* R L
E F7ER TEM08004 \ Pivot assy Round head screw
TlgRe(;8001 1 ~/hvfa L Round head screw v TFMO08004  XYNS5+C10FJ X
piaege XYN5+C10FJ (M5x10) 7’{}3“(% o5 Adapter
W2I v o (M5x10) 7 4 7% — Adapter TJF00008 YT-03PD3.YT-03PD2 T DH
Bushing < )
YT-03PD3,YT-03PD2 T DA {£ BEALEY
TMKO01203 Use only for YT - 03PD3, YT - 03PD2. Use only for YT - 03PD3,

<Ay MIFERER s oy i

V #H£ 84 Torch holder assy

YT - 03PD2.

I?\'/:?\; gg%f;vith magnet s beF 10F T?;Eoooo ; TJF00009 S a— ke REeEM
(M6x10) _ . ®p +tLRHL Semsscrew Short bar Torch holder assy
A54 R ¢ XYN5+F10F TGX00004 TJF00009
Slide assy (M5x10)
TFM00186
8 rai utting Guide: YX- Iy e—
E#&AE / Straight Cutting Guide: YX-08PTS3 ZFYLTTvw
Spring washer
#ls®F v b B> F =2 XWAS5BFJ
Plastic cap nuts Handle \E/B Base (M5) #JL k Bolt
XNBZ6PM (M6)  MHG50107 TFX00003 . XVG5C45FJ
Y p—

HigI Y o r—
Insulating washers
XWEZ6P(M6)
wBIvia
Insulating bushings
MZ\Vv00602

7RJL + Bolts
XVG6C20FJ
(M6x20)

YRTVTTy v —fFFv b
Nuts with spring washer
XNGZ6SWFJ
(M6)

(M5x45)
i v b

XWESFJ ﬁ iy t
M5 \ astic cap nu
el »9‘/ XNBZ6PM

(Me)

LFYIETARE
—  Guide for L-cutting
Bolt — 3 TFX00002
ALk D
EZEIva
XVG6C20FJ Insulating bushing
(M6x20) MZV00602

OMTT1196JE08



BisE 7 4 73 — | Edge Preparation Adapter: YX-08PTK3
L—JL#f Rail assy

/ 7 & 74— Adapter Fmmmm——m—m e L_T_F_ng_ogg _______ .
RESEMH Ui TJF00008 <
Torch holder assy %, YT-03PD3,YT-03PD2T L—IL## Rail
TJF00009 DHFERALFET TFX08003

Use only for YT - 03PD3,
YT - 03PD2. &£ B Holder
54 FK TFM08007
Slide K -

EE£E

RJL b Bolts
XVG8C40FJ
(M8x40)

Fitting
TFX08008
7 < ¥ — Washer

|
I
|
I
|
I
|
I
i
TGX00002 !
i
i
! XWESFJ (M8)
i
|
I

T—5—ifl ATYT Ty or—
Roller assy & Spring washer
TGX08005 Lo _____XWABBFJ(MB) i

##3R)L b /3—Y | Insulating Bolts: YX-08PTB3

. F7vay
. A7vay Optional
RFYG Iy v—{tFy b Optional
Nut with spring washer §—w .\/
XNGZ8SWFJ - BoF =Y ez
(M8) RoF/N—Y

TFX08012 Base
N ~ Handle

Ty a— >TFX08012
PR ¢ /
Washer TFX08009 . )
XWESFJ RFYLT Ty v—ftFy b AT T Ty o o—ftFy b
(M8) Nut with spring washer Nut with spring washer
l > XNGZESWFJ (M6) . XNGZ6SWFJ (M6)
N [ BESEEEAR —
ElE 7',‘)" k |+ Customer supplied cutting guides
Plastic bolt QH“; . &
M8+25PPS b PS—RT YL v— &&L b
(M8x25) i {  Insulating washer > ¢
TZW00001 3 i
(M8)
- REDZHEAEZX., 202245 SARENEDT « This operating instructions manual is based on the
9, information as of March 2022.
- REDRBARE. XED-OFELGZLIZE « The information in this operating instructions manual is
BgHEHYET, subject to change without notice.

(FEmEZELED TIE]
AERZERESNDGEE, FAZRTLEXRREVVEXE LRZFVERAZNEME L. BELEZE
LTS,

INFY 2w AXRT M MEREH Panasonic Connect Co., Ltd.

T 561-0854 KRFEGHIGEEITH1{E1 S 1-1, 3-chome, Inazu-cho, Toyonaka, Osaka 561-0854, Japan

© Panasonic Connect Co., Ltd. 2017 Printed in Japan

OMTT1196JE08



	品番/Model No. YX-08PT*3 series

